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Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer any four of the following in about 
150 words each : 
(a) During the past few decades, changes have 

taken place in the family system in India. 
Explain the factors that have affected the 
system. 

(b) In the recent past, our country has 
experienced revolution in the system of 
communication. How has it affected lives 
of people ? 

(c) How has education affected the process of 
social change in India during the post 
independence period ? 

(d) Discuss the contribution of Indian National 
Army (INA) towards the freedom 
movement of India. 

(e) Discuss the major achievements of the 
United Nations since its establishment in 
1945. 

(f) What is meant by international terrorism ? 
What should be done to control it ? Explain. 
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2. 	Solve any four of the following questions : 
(a) Add the expressions X2  - 4xy + 2y — 8, 

2x2  + 6xy + 4y + 5, 4x2  — 8xy + 6y -- 10. 
(b) From the sum of 4x + 6y — 4z and 

7x — 2y + 8z, subtract 2x + 2y + 3z. 
(c) Divide 3a3 +4a2 + 5a +18 by 2a —3. 
(d) In a triangle, the ratio between the angles is 

2 : 3 : 4. Find the angles and draw the 
triangle. 

(e) After ten years Rashmi will be three times 
as old as she is now and her mother will be 
thrice Rashmi's age. What is their present 
age ? 

(f) A shopkeeper buys 20 kg of apples 
@ 100 per kg. He finds that 4 kg apples 
are rotten and cannot be sold. At what rate 
he should sell the remaining apples to make 
20% profit ? 

	

3. 	Answer any four of the following questions in 
about 150 words each : 
(a) Describe three types of levers. Give 

examples of each type. 
(b) Name and describe uses of any five simple 

machines used in any kitchen. 
(c) Fill in the blanks : 

(i) One hour = 	 seconds. 
(ii) 1800 hours = 	 days. 
(iii) Thermometer measures 	 

of an object or a system. 
(iv) The normal human body temperature 

is 	 F. 
(v) 	 and 	 are sold 

by their volume in litres. 
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(d) What is a mixture ? Give five examples of 
mixtures found around us. 

(e) Most of the metals are good conductors of 
heat and electricity. Explain with the help 
of examples. 

(f) Describe the process of distillation. In what 
circumstances this process should be used ? 

4. Answer any four of the following questions in 
about 150 words each : 
(a) What is meant by irrigation ? Describe the 

methods of irrigation used in your state for 
major crops. 

(b) Discuss the importance of crop protection. 
What is generally done to protect various 
crops ? 

(c) How are artificial satellites different from 
natural satellites ? Discuss the uses of 
artificial satellites. 

(d) Describe the Ecosystem of a garden and 
draw its figure. 

(e) What is air pollution ? What steps have been 
taken by the Government to minimise it ? 

(f) Explain the circulation of water in the 
Ecosystem by drawing a diagram of the 
water cycle. 
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